
Answer: C
With each iteration n will be
3
4
5 (which triggers if statement), then -99

so this code will print
3
4
-99



Answer: A
A is correct, the loop will continue until s satisfies the specifications. B is incorrect as 
the loop will continue while s meets the specification, not terminate.



Answer: B
This is loop will be an infinite loop because the loop body does not change i, which 
remains < 10, and thus the loop conditional remains True forever. Recall for a loop to 
terminate, something inside the loop needs to change the loop conditional (or we 
need a break statement).


